Forces on Systems

Solve the following problems using the methods developed in class.  Remember to identify the system you are using each time.

1.  A 6 kg block is sitting on a horizontal, frictionless table.  It is connected to a 2 kg block that is hanging over the edge of the table (as shown).


a.  What is the acceleration of the blocks?


b.  What is the tension in the rope?  

2.  Two blocks are connected over a pulley.  One mass is 2.0 kg while the other is 3.0 kg.  


a.  What is the acceleration of the blocks?


b.  What is the tension in the rope?

3.  
Two blocks are on either side of a frictionless wedge as shown below.  The mass on the ramp is 0.5 kg and the hanging mass is 1.0 kg.  


a.  What is the acceleration of the blocks?  


b.  What is the tension in the rope?
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